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MATH 202.5 (Term 152)

Quiz 3 (Sects. 4.2, 4.3 & 4.5)

Name:

Duration: 20min

ID number:

1.)(3pts)Use reduction of order (only) to find a second solution v, of the DE:
4z*y" + 5y = 0, giving that y; = 2'/2coslnz is a solution on (0, ).

2.)(3pts)Solve the DE: 2y"”

-y =2y +y=0.

3.)(4pts) Find an operator of lowest order that annihilates f (z) = z%e *sin2x cos x

Hint: sin(a + b) = sinacosb + CoSa sin b.
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MATH 202.10 (Term 152)
Quiz 3 (Sects. 4.2, 4.3 & 4.5) Duration: 20min

Name: ID number:

1.)(3pts)Use reduction of order (only) to find a second solution y, of the DE:
z%y" — 2y = 0, giving that y; = 22 is a solution on (0, 00).

2. )(3pts)Solve the DE: 3y” —2y” — 3y + 2y = 0.

3.)(4pts) Find an operator of lowest order that annihilates f(z) = z3e® cos 2z cos =
Hint: cos(a + b) = cosacosb =S$ina Sinb.
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